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5P MDL | ¥ = e
AR | RE | R | R AR | RA | YR | RE | 2K | PR | R | U
i
3+ — °C | 240 | 235 | 230 | 248 | 245 | 241 | 242 | 237 | 23.3 | 244 | 238 | 235 | —
pH & - — | 82 | 82| 82 | 82 | 82|82 | 82 |82 | 82| 82| 82| 82 [75-85
7nid — |mgL| 69 | 68 | 66 | 66 | 65 | 63 | 70 | 68 | 66 | 6.7 | 64 | 63 | >50
4itZ5 8| 10 | mgl | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <3.0
t#z5$| 15 |mgL| 18 | 15 | 16 | 1.7 | 1.9 | 16 | 1.7 |ND.| 1.6 | 1.5 | ND.| 17 -

ek ] 10 |mglL | 154 | 122 | 108 | 10.8 | 8.2 9.4 9.0 | 100 | 88 8.4 9.2 8.2 -

001 |mg/L | 001 | 0.05| 0.05 | 0.05 | 0.06 | 0.08 | 0.06 | 0.05 | 0.04 | 0.08 | 0.06 | 0.07 -

gicg: 0.06 | mg/L | 0.129 | 0.086 | 0.153 | 0.077 | 0.124 | 0.067 | 0.094 | 0.095| 0.101 | N.D. | N.D. | N.D. -

L Rpe® | 0007 | mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. -

SRR o |[CFU g5 | 40 | <10 | <10 | <10 | <10 | 60 | 25 | 30 | <10 | <10 | <10 | —

%R 100mL

bW Py 10 | mg/L | <1.0 | <1.0 | <1.0 | <1.0 | <10 | <1.0 | <1.0 | <10 | <1.0 | <10 | <10 | <10 | 20

B g 0.09 | mg/L | 052 | 0.49 | 0.41 | 0.47 | 0.44 | 056 | 0.54 | 1.24 | 0.46 | 0.49 | 0.81 | 0.50 -

S5 W | 05 |mg/L| 09 0.9 0.8 0.9 0.8 0.9 0.9 0.8 0.9 0.8 0.9 0.8 -

=~ fI> {0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1

¢ [0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | ND. | ND. | N.D. | N.D. | N.D. | 0.1

# 5 4 [0.00003| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | ND. | ND. | ND. | N.D. | 0.1

e

“ 424~ [0.00005| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1

%% % [0.00003| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | ND. | 0.1

f# £74> |0.00250 | mg/L |<0.00250 |<0.00250|<0.00250 | <0.00250 |<0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | 0.1

pInL 3 — cm/s | 0.14 — — 0.16 — — 0.05 — — 0.12 — — -

me | = | R Jaak| — | — | kr| = | = [gak| — | = |pad| - | = | -
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